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l Full Marks : 80
’ Pass Marks : 24

Time : 3 hours
The figures in the margin indicate full marks for the questions

Give the answers of Part-A in the OMR Answer-Sheet provided.

ALLOTMENT OF MARKS

Part—A (1)
Q. Nos. 1 to 20 carry I mark each : 1x20 = 20
Part—A (2)
Q. Nos. 21 to 40 carry I mark each : 1x20 = 20
Part—B (1)
Q. No. 41 carries 2 marks each . ox 3= 6
Q. No. 42 carries 3 marks each : 3x 3= 0
Q. No. 43 carries 5 marks : =
Part—B (2)
Q. No. 44 carries 2 marks each : 2% 3= 6
Q' No. 45 carries 3 marks each . 3x 3= 9
Q. No. 46 carries 5 marks = 5
| Total = 80
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(2) (3)
. i t d private sector
PART—A (1) (b) the existence of both public sector and p
( Introduct ; qroa Y AT Jfeare 199 7S
ory Microeconomics ) SHTEEC Ye 3 e et e
Choose the correct answer (multiple choice-baged questions) : TEleTR TR STRY TR G e
w% TeCh! AR Thne (= Reaffes o) - 1x20~20 (c) the operation of (“:entral Planning Authority
wm TRl @z e (ﬁﬁﬁﬁﬁ%ﬁwﬂﬁ): ‘R ARTEE T e
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(&) prim i S S A T
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T (b) SCIvice 3. What will be the marginal utility when total utility 1s
36 Gl | imum?
maximu s 5
TETE ORI @@ngmﬁm@mﬁ@ﬁiw.
(c) alternative L i ATl S 20 e Tt RSk ?
= ?W'\?lgsﬁs | . (b) O © 2 (d) -1
v TSIy (a) T
Th"ﬂ'?m 4. The equation of budget line 1s
2. Basic characteristic of Mmixeq 2 ' . e A 0B 2
i YA 31 caiyy 2w ‘onomy, ;¢ o cqar SaeRe %
e ISR o1 ey gy e BTG EHHTE S
URIERUCHDIE R Wﬂﬁmaﬁ | o+ poXp = M (b) piXx1+pPaXxo <M
(2) the operation of pric (a) P1*1 s M (d) None of these
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5. As long as margi 2
ginal U.tlllty IS positi
CW 1tive, tot
T 7 205 Sl T 2 A, o S
AT W[ ’ MRS
TSR SRR Teiems ST o, e B o

(@) remains constant (b) in
Creases

7@ ae b
1 ? AT
e amim e 27
o
(c) falls
e (d) All of thege
I IR R g
GH ST 9 et
%fﬁtﬁr TSy
6. In case of Giffen
good
[RISERLCIE N o ﬁonq,—s price effect jg y o
T |
ém’ ‘aﬁq Th_ﬁhtﬂ W
(a) negative o
RRIFE (b) Positiye
R EIFIE \DIFIE
ET:I'@’QTE W
(c) zero WHT;
pal (d) unjt
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7. The demand curve slopes downward because of
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(S)

Il (@4 B Seice] AN orEd

BIfEw @4 B v e (e SIPTE FIEe

(a) law of diminishing marginal utility
P 2 Sermfarer [
ZEPTE e Sl [
qeetiT TSR aTerfy @

(b) income effect
i [
o R
3T MR

(c) substitution effect
om TIom R
R g e
e TEEAT T

(d) All of these

e TR0
AERR T

Perfectly elastic demand is represented by a curve which is

olaf@ﬁmomssﬁmﬁ%ﬁﬁﬁw @oE W

T{Fgﬁs‘ﬂ%'ﬁﬁﬂﬁf%ﬁﬁ'\ﬁﬂ@‘ﬂﬁ = |

H@WWWW?T@W S|

(a) parallel to Y-axis
Y-orsFe ST
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. Identify elastic demand

10.

(6)

(b) convex to origin
T R e T
T R firce S
e fo=if v =@

(c) parallel to X-axis
X-S759 S IEqe
XS0 S
X-Taor' ™y fom

(d) ;J%;nq\:ﬁar% mj straight line

Vs e I <o ey

TR WA= e gy

if price elasticity (e

Wﬁ'ﬁg’%ﬂm(

p) is

%%a%mﬁmmw,m

fi?r_ﬂ\v ‘WWWW ep)@

Production fiyp ey

Ction
between inpyts and FEens o functioy,
TR Sl

TR T o s = iq

LT T T o
(a) cost Wmﬁ%@q@;uml
e ) OUtpyt
Sk sy
ECLE] %Q‘Dmm
ey

11.

12.

13.

(7))

(c) revenue (d) profit
Bk IS
o EIS)
1) HAFRI

When AP falls due to increase in employment of variable
factor, then

S ToWE 2Tl SR (IR I TS AP 2P R, (903

e TG 2ICel S 7S T A AP 2P =, O
MWWMWWWAPm@nw,
sl

(a) MP = AP (b) MP > AF; )
P (d) None of these

(c) MP<A GBEART GOIS T
Q8™ qIibe T

BRI HEs TS

At zero level of output, TC =
Seeee ~ifRmre *F0 2'eE, TC =
Sesre “IfRmre 70 ', TC =
ﬁgqmﬁﬁa@wﬁ@’ Sivea, TC =

(b) TVC (c) AFC (d) AVC

(a) TFC

When AC falls, MC
afear AC g 4R, MC
79w AC ZP1 °, MC
Seer AC @11 @ saret, MC
(a) falls

2F ™

2M A
e SEAre
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(8) (9)

(b) rises
DT 15. Total Fixed Cost is presented as a straight line
" | P & 38 Tomgre 1 T (T
: 33[ 5 e A Sorgie A1 eI
' TR B e EREEEE M g
(c) initially falls, then rises (a) parallel to Y-axis (b) parallel to X-axis
(PICS 2P #IT, O =T%® Jf 2 Y=y IR AR
2108 2P “IR, SR IfE = Y-S0 S X-SCH ST
- R R X-for' i fom

(c) that slopes downward (d) that is upward rising

(d) None of these o i eorttn &5
) RE Rewa e e =PTl R CERTCATCRICH
S IR B i R R
TR AR e

16. Marginal revenue is earned by a firm by selling of
14 : output.
: f‘; :;c) 4 ;énts of output is X 20. AVC at 5 units of outout @4 T TRATS REIA 2 S STE T |
4 &% %Qﬂm—c’f o P R o T T TRAMC s oifee ST & ¢ |
5 @W@‘QWWA?:F;q@ T 20. 5 &% Getmre AVC =g T 40 ﬁ%mﬁmﬁmﬁyﬁrﬁﬁ AR SETR SiEe
AW i b) average unit
€ all units (
4 39 TR AFC 3 ¥ 20. 5 ITF Te AV (a) vt
5 439 TeAme AC 9 i T T 40. Sl (ANBEAR % L
AR i .
4 wrjfe fogAemsaE AF e TS
s T 40 Suﬂgﬁﬁ;ﬂlﬂﬂ:zas gt Ave an iy EThR TS B
' 3 SR
(c) an additional unit (d) None of these
%2
(a) 0 (b) T 40 <5 RS s R e T
Q&R 9 :
(c) T56 ” ool SRE 97 s T
) T60 o e e st

Y "N
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17. Price of a commodity is

<51 STHAR TN DA

«fs AR TN 2geN

T SEEH SO ST

(a) TR (b) MR

(c) AR (d) None of these
GRERT Gble 7=y
QSRR 4FiHe Ty
ABRE AT T2

18. A firm earns normal profit when its AR =

—

G FIC! Frelf o wTeiq ¢ @S g AR =

<5 F0f FOMT TS el T TA SR AR =
T T HEHAHT SR Gemeen STRRE Sea 3f AR =
(a) MC (b) AC

(c) TC d) Ave

19. In short period, the supply of a good ig
FIFETS Ry A oty

LIPICE GF 2P AN ey

USRI L TRy —
(a) perfectly elastic (b) perfectly inelastic
:11: ﬁfﬁ: " Sefogrors
feow of
L 1 Sifegion

H@@W
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(c) unitary elastic (d) less elastic

a3 Efeg® - e
g5 e - fEfezer
RIEUICACIERSIRIIN T AERETN

If decrease in demand is equal to increase in supply,
market equilibrium will exhibit

mﬁzﬁmmnﬁmmq%wméﬂ,w—m ©ig (TR

iR 2P AR QAR 9fad TR =, e ST e
R G R S S T ST, g1 e

(a) rise in equilibrium quantity
i i 9
s A 3
Tirerg forel S

(b) fall in equilibrium quantity
ST AT ZPT
et 2RI 2P
A COIFAEEIRCLIREIN]

(c) no change in equilibrium quantity

weRafEe ST AR
speifRaee SR A

SremereT TS e
(d) rise in equilibrium price

ey T 9

oo T 3
Tﬁaamaﬁﬁam

[ Contd.

/18




(12 )

PART—A (2)
( Statistics for Economics )

Choose the correct answer (multiple choice-based questions) :

1x20=20

w7 Teqeh! A Thredr (qay [afefes 2r)

W Tedlb (R e (Ify Ksfeles o) -

T e g (S 9 i 9iee)

21. Who is known as the ‘father of Statistics’?
e e off o [eme 7’ oot w1 7m 9
@ TS “oiffsie Jeer P9’ e «ffbe 9
R ggEt areRygd fafemf el Ree Bl g

(@) Gottfried Achenwall (b) Adam Smith

ST Pl Ty P
SIBFIZT ST ST Wmfﬁw
. L'&R'agb@“‘a'ﬁ' wH fayy
C . Robbins
(d) J.B. Say
ae. R @R &
9, 7R @ R, o
Uf[o TﬁFﬂ? %[o ]%[o ﬁ

22. Which of the following is a measure of

OO (BT (P 2RTOR o] 5 9 “entral tendency?

ﬁt‘fﬂ@ g Cﬁﬁ TSI Mof 9

e wTe e Wiy s T

(a) Arithmetic
SIS oo p (b) Median
sTfafes o1 Y
AETERER Ry :;2]
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(c) Mode (d) All of these
T GRCIRE A
JZETE @R S
T SHRE TS
23. Statistics in singular sense is
5% wiefs Statistics T 2
453 =i Statistics T 2T
TR e Statistics AT S
(@) collection of data (b) organization of data
YR AL Y FRofoeFa
we7d TR CIRIE R QI Rl
@i YA @ PR EreaE
(c) presentation of data (d) All of these
CRisACia-dial G2 TRl
A TR Qe a0
iy G el
24,  is the difference between the largest value and the
smallest value of a data series.
g1 B2 mﬁﬁawwwﬁﬂ@wm@_ﬂ_mn
3T} w2 R THoH HA PR L (GEACCES N
ey e oy R W A G AT BRERET £l
(a) Median (b) Standard deviation
el A oo
Tl R [T
PN e T
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( 14 ) ( 15 )

(c) Range (d) Mean deviation (c) random sampling (d) None of these
P 515 5o o 2ifenaH 3RS GBI w2y
oI 51% R5er qyfoes 2Afesas Qo @FoS T
25. Which of the following measures of central tendency is 27. When the data is classified on the basis of area,
known as positional average? classification is .
©o (ST (IO (Al e ZIere o1 e & 77 2 o w2 A Tl aifles =, effer =
e WEiSkE (MG (F@E [t TMore 16 307 “ififve 2 e w2y AR ToRe @ifa =, e 2
wmﬁmﬂ@ﬁ%ﬁ@mwwﬁmmmw mwwwmwm,mm_ml

(a) qualitative (b) quantitative

() Mean (b) Median RS
2579
i it sfRmIeToTS
T Q5T
RRIR) i .
TeRIY e R
(©) - graphical (d) chronological
(C) Mode ‘ (d) None of theSe ;’C EAERIS]
1 ‘lq ] 5”i§ﬁ§
i LEIC BT e e . PSS
1 f o ‘ﬂiiglﬂs
- alculable i
: istical measures calculable in
26. Th i - : f the following statistic
- :hreni::lliczirlsllv?lmng the study of each and every item 28, :thcr;foopen-ended ol
GElES! e{—gﬁmls ,,ﬁm_' %Wmmmwwwﬁwﬁﬂﬂﬁ?
W“;ﬁ;ﬁ T RIS WS W1 TR o | ngamm@m:ﬂﬁmﬂﬁwmﬂwwm?
7 S@sfe 2if% ﬁmﬁm'@ﬁ\_wzi@m% I CHr e
sereft e W AR s < i — ot < o AT R AR i s e
(a) sample UL PR Reme (b) Median
oo (b) census & Tl
aifo P o Eaal
N 2T it
g :g‘fw —
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29.

30.
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(c) Mean deviation (d) Standard deviation
9 f5eT (T R
1% faber PICERE D
TSR TWIRA™ Tl @™

The value of correlation coefficient lies between
AGH BRSPS I q To9g9 QIS |

TRTFR BUNCE A -9 Tooea AT |

S (b) 0 to +1
~-Tot3 0 0% +1
-1¢3qF 0 0 (RCF +1
-1fgz 0 0 Fiegg +1

(C) -1 to +1 (d) s i
~Ie¢F +1 e - P
-1 ¢CF +1 A
~1 gz +1 Rt

In case of two independent variableg
coefficient 7y, between them is )
01 TR 55 X W Y4 T geic Ixy =

— |
70 FRAA 50 X @R V-4 o aem il 2

X and ¥, correlation

: qble T2y
PR G .
TR T

( 17 )

31. A consumer price index number measures changes in

(STET T IPFRFL  ~fREET (I o |
(STER T PIF -9 #IfRASCTE WA T |

ammﬁéﬁﬁtsr&ﬁimﬁw_—_ﬁ@mﬁwm|

(a) retail price (b) wholesale price

<[l T IR N
™ QIESEIRGR
gv 3= FRET o6
(c) producer’s price (d) Both (a) and (b)
SeAWAFIA T (a) &I (b) TR
(a) €3 (b) T=T2
TATHPIAIN TN
ﬁgﬂ;ﬂﬁg ECE () TR (b) H

{4
32. Which of the following we us¢ for base year

ﬁ,ﬁwmmm@wﬁm?ﬁcﬁ?q
ﬁma}aﬁtﬁmmwﬁm@@ﬁm?
0 (b) 1
) (d) None of these
@2 (3CART GBI T
qge @Fioe 7T
FERF g ST
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33. If r=-1, cdrrelation is said to be

W r = -1 =, TS e @ IR |
Mr=-127, 0T o0 A |
e 7 = —1 TN, TR HHeE 8 S S

(a) perfect positive (b) perfect negative

34.

/18

o g oJef T

o R s3ef 4

AT TSI 3T T o
(c) partial (d) zero

RINRE X

RIS X

CICIE] g’

The other name of semi-interquartile range is
G- SBHSLT 2P B! 7Y 27

S{-SETeYF 2T S0 N 7ge)
m-sﬁéwﬁmﬁﬁr@mﬁ@ﬁ?ﬁg@m

(a) mean deviation

oG fa5ere 55t o
. ﬁﬁﬂ DR e
TSRS W™ 3 e

(c) standard deviation (d) None - T
RICEREED ese
e 5o RER gy T2
ot s S e oy

(b) quartile deviation

35.

36.
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Which of the following is measured using Lorenz curve?

Lorenz (ICa o/ (FFCH! (&1 2 ?
Lorenz @31 fica Tesa @b Mol =0 2
Lorenz g e A=@! g SE?

(@) Point of central tendency

@am R 7
@ 2o R
fire AraiaTs o
(b) Income inequality
S ST
rcEACER
Al FAARARS
(c) Coefficient of correlation
SEEa BARP
SooEa 8%
RIS I THTET
(d) None of these
GFAET GBS T
q@fm «3e T
e Al T

i i ich of the following
._:on is determined using whic
Mean deviation 18
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37.

38.
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Which of the following is not a pure (unitless) number?
©olq (O fam (999 f9319) izl w1= 2
Fare @Rt s (93 [7R9) sy 7@ 2
TMEW AT T LT (e i) i w=1?
(a) Arithmetic mean

ET Te

REICER

AT TSR
(b) Correlation coefficient

REMPRIRCHI]

FRITIH BAR

LEERIREIRE LI E E e
(c) Coefficient of variation

PR IR

59 @I

RISIRES Ry
(d) Index number

5 IR

6% IR

IR s

The algebraic sum of the deviati
from their arithmetic mean is gj

N RIS A PR SR Ferrq oy

ons of g
Set of p
ways values

ﬁﬁli%‘ﬂﬂﬂ %ﬁ[ﬁ\?ﬂq [ S p—

39.

40.

(21 )

Which of the following measures can be calculated using

ogive?
W’ﬁl@ﬁmﬁﬁ?ﬁwmﬁﬂﬁ@?ﬁﬁ?ﬂﬁ?
&fare IR FCE Ao @R el e v AR 2

31’ firy AEEEH TreTaf Ael S/@l ﬁ'gﬁl?ﬁ ga?
(a) Mode (b) Mean
quER ERISd
(c) Median (d) All of these
c
S| GEARA SN
. qgfor D
e Rk
Median divides the whole series into equal parts.
mirﬁa (5ICH2, MR T wi57e ol T |
-
st 7oyl AT T _,@:2:1 z:sz;;h -
g I
e T @@l
(b) three
(a) two o
e o
3 oJTH
ﬁ (d) hundred
(c) four .
™ Eial
. s
El

[ Contd.




(22 )

PART—B (1)

( Introductory Microeconomics )

41. Answer the following questions -

O 2PPIRY e fir 7Ix3=6

(@) Write two g
iffere
normative econorrlr(l:ies between Positive ¢ d
cs, conomics an

TS A e e
391 S 3% s ri s

\O%

TS T TR Yooy T oy oy
R T |

Prodyynt:
Uction possibility

zﬁmmﬁwﬁ‘%ﬁ
Q"Wﬂ@wﬂmﬁﬁ Al
CeTC=1 |

42,
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(c) What is meant by retu

(23 )

Or /& /5%t / Tt

Write two factors that affect the market supply of a

commodity.
7 @B IS 5T 2SN ¢oreral o1 g o |

@ﬁWWNMWW@ﬁWml
Wﬁﬁﬁmwﬁﬁqmﬁﬁmﬁu

rms to a factor?
S Teimea o e e a2

ol TG 2o oIS i G 2
fgemgt o HtETE gereen A gm?

Or /&1 /9331 /T

Define marginal cost with simple example.

WWWWWW:WWI
e TATERePTR, 2SR O T WS |

i R e g #

wer the following questions : 3x3=9

Ans

(a) What are the consequences of ceiling price (controlled

price)?

s e (FafEe w3 offemprR 7 5 2
S T (RS ) 4 offeresfe 2
AR fer S (gqmmé‘@?)ﬁam@umm?
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Or /&1 /=31 / Tar
Ex'plajn the concept of floor price (
price).
ST o (e el wi)q 4T <1431 9 |
RSt et (e et ) - qrgeny TG T |
HIGRIEER I (wﬁqgméﬂq)ﬁmwa@m

help Of dlagram
T SIPTRTO 4 o e 2y
ISV TR R B v ey

The demand ang 3
u .
perfectly competitiye Pply functioy,

Market 4. S of a firm under
D € given hey
=25-2p ow :
h S=-5+3p
where P =l
A Price, v,
quemitiy o fmanded and

L €quily

brium i d
ijf MT%W &g ﬁﬁb’é‘[‘q Price an
9qq Eﬂ%ﬁ

e 4999
I QoI o @S

D=2
WS
=)
{I?\D,P:W,D: % +3P
Ll "fﬁ“‘ﬁwa UF S -
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(25)

"ff ﬁi\ﬁﬁﬂllﬂ\aﬁjﬁ?ﬁ S EASE Lﬂ'ﬂ% AfSBId ‘Elﬁ'{ﬂ G2 (IS Fel
e 4901 -
D =25-2P
S=-5+3P
@ P =7 D =T EAR PR ) S = N eI | SR
i ¥y

i @qg el e e |

mgmﬁmmﬁmﬁmﬁﬁﬁ%mmﬁmmww
J@m ¢

p=25=2P
S=-5+3P

2, P = 9 Dzmﬁme:WWlm
33 o for fag!

. w of diminishing
ssumptlons of the law o
State any three a

marginal utility.
WW%@W
@Wﬂ@ g@@@mﬁ@ﬁﬁmm@mﬁaﬁmmmml
WWW@WWW TS B |

or /%3l /A /T

three properties of indifference curve.
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43. State and explain the law of demand with

44.

/18

( 26 )

demand schedule and a demand curve the help of a

Q9= BIfEm
- SEPP S SR R ST SR KRG S e

I S % _
| ST < SR G T v R S @ g

Or /1331 / <2t / war

Discuss how market demand ¢
individual demand curves.

IfEsre A @R omy st
HICEToAT 41 | C

urve is derived from

Bﬁﬂﬂ‘?ﬂwqwm’

( Statistics for Economics )
Answer the following questiong -
SO 2PPTRT e i Caa
fiae erafm Teg e
TR HATEBREA R 3 .
(a) State two demeritg
of Mmean S
o6 RO 1 PR g ey 2D,

ﬁﬁrﬁtwmmﬁqﬁﬁa@@q;i%

[

(27 )

Or /7% /%3 /T

State any two merits of geometric mean.

@tWﬂWﬁW’fﬂﬁﬁﬂ@m’JW1
@zmﬂmﬂ@miﬁ?ﬁﬁmwﬂa’ml
Waﬁmqﬁaamﬁﬁ@@nm

advantages of sample survey as compared to
(0]

(b) Write tW
census survey:

Wﬁﬂwmﬁﬂ@{ﬁmﬁﬂ1

differences between que§tionnajre and
Write any tWo thod of collection of primary data.
s me€

schedule :\ﬂﬁ i 1 P A bt
qfie oW N

a? Mention any one type of

(c) What s classill

classiﬁcatior% , cRerE TG b1 PR TCEs |

waq A ﬁ'o o (3 GG i 2R B A

e e . mﬁmqmmﬁﬁﬂ@wﬁu@|

v [ Contd.
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Or /& /<1971 / var

Write the relationship among mean, median and

mode when the distribution is Symmetrical and
asymmetrical.

O T TORN ReIR (wae T,
3o feret |

MEIC IS RPN Gr o e RIS i BGEH
F (ETCAl |

BIRATSTR AR BRI Ty ERIPICH
oty T DEE R TR, o o

TG I I2eee (e

TR ey

45. Answer the following questions
OIS 2PPTRY T fir S
e erefem Teg me .
MeEH FAEERM 5 8

(@) What is dispersion? What
of dispersion?

RCF T 59
R T §o
TR 117

are the foyr main measures
fReworerm 3 71 BIRGY f o
Reseoreem 327 o1 ol o

TREHTEF e TG Wiy oy e

Why is standarq devia
disperiies €viation used a5 the p
T 5o fise

s 2 Rty T ROVt e

est mMeasure of

/18

(b) What are the essentials of a good meas

()

(29 )

ure of central

3
tendency?
T 2o @bl S WU oareATerTR & 2
(T 2[TOH (B s Wee srEaTesi 2
) . . ?
fire Ar@ieEH ) et SrET AR TRAIIGRT A1 A
Or /7% /=<3 /T
i two serious limitations of
Define mode. Write any b
mode.
e i T | e R G B g Fed el
qeTEd TR S | I @ @ 36 @ el el |
iy ey @) ey s e s Rerteeh
Wh. t is graphic presentation of data? Write the basic
a
ency polygon and frequency
difference between frequency p B s
C:;v;'ﬁm oo 7 IS TP SAF RIS (FRT HAEr©
‘\'5 >
bl ofrefey o4l |
o (A TR F 7 TAAFRC! IZPT GR IR (T4-GF TG
foTR G ;
o2y CETCAT | .
Eﬁﬁ Sraramien REGAET A7 TR SiEiEl SR e
vy TR s HRE TR
Or /7% /9%l / &t
What is meant by correlation? Mention any two
roperties of coefficient of correlation. 1+2=3
Wqﬁmﬁw?m@mwﬁm@hﬁﬁw
4 |




i (31 )

(30)
e ST TR TR e o
46. Explain the meaning and importance of index numbers. T
2+3=5 sr@t o’/ | 0-10 | 10-20 | 20-30 | 30-40 40 3R TSN
T RO = WF 9T R 1<y 591 | | 10 8 2
o FRUW WY R IFC R 171 771 | Tt L__S__ ¢ J
el SR S o i W dae | o i i R T R e,
Or /1% /514 L
Calculate median from the 7§ : * kK
distribution : Ollowing frequency
Class interval | 0-10 1020 20-30
30-40 (40 & above
Frequency 3 74 10

19 TEHeT 0-10

SISESIEIO)] 3

(O MM 8o/ wpRifg R
TR 212

C25
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